AL T 2 A R - AL I = A e

} SEESREY

\

th#E RER 104521
Bfir - RIS
; g S - EE B B
=] D =]
E: ? 1 > 5'( ON >+ Q %gﬁ‘ %
81 EB T e =
811 AHAfEERGHAL—) 1,210,457 1,210,457
812 sHEEIEH <& TE H 1,778,619 1,778,619
8123 JREN & FRCFIE—) -5,078,831 -5,078,831
8124 JRBNE I FIECFR—) 6,857,450 6,857,450
813 EBIEEN R RERACR ) 2,989,076 2,989,076
82 HthEd8) 2 4 =
825 B NFEHAEHS K HoAth & fE 5,078,831 5,078,831
82C HENHE A &= -463,340 -463,340
82D IR/ HAE RS S HAt & -1,001,889 -1,001,889
827 HAhEEN 2 FIRERACHH—) 3,613,602 3,613,602
83 W4 MAVEIRG 2 I FECEH—) 6,602,678 6,602,678
84 HHIH & AT E TS 19,690,418 23,102,849 3,412,431 17.33
85 BARIR 4 AV E R4 19,690,418 29,705,527 10,015,109 50.86

13118-1



